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for the questions
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1. (a) Fill in the blanks : 1x4=4
06 5% @9 ¥ ;

(i) Accounting Standard deals
with Depreciation Accounting.

fprop-Remr Wy T wEd W
foos 3qr 2w



i3
( 2)
o 2 (i) Cost of goods sold on hire-purchase
(i) The total amount to be paid by the is_transferred to Hire-Purchacs
Puyer under hire-purchase system Ny Account.
Is called price. A ~
srEfos (et off & TE-ET (Fre 4-33 R I (eme
S e m il =) By T ve-mm feeew
PR Rw s qr 4,

(@) In Departmental Accounts, each
department is considered as a
separate profit centre.

(i) Under Stock and Debtors System,
Branch Stock Account is a

Account.
WWWWWW?@: ﬁaﬁ&m%m&ﬁ:@sﬁmﬁ
A Zo o @3 671 | e (&% Rone Rzsw w2 =@
{iv) Royalty Account is a Real Account.
(iv) Royalty paid on sales is debited - T o MR o el e
to Account, fore |
I RER eoe wffivny g
feorere RS w123
2. Write short notes on (any four : 4x4=16
53 G foran (R e wfddn)
(b) Write True’ or False’ ; 1x4=4 fa) IFR Standards
@ R IFR T732

() Loss of stock by fire is shown on the (b) Instalment Purchase System

credit side of Profit and Loss f3-7% mfe
Account,

ﬁmﬂmmﬁi@mun

(c) Independent Branch
T M



(4) "o
(5.)

(d) Inter-departmental Transactions
weRey @Rz @Tod fibel 2ge Ff 2016 "M@ 31 W
wfis T56-4d o4FS I :

fe) Recoupment of Shortworkings
- T3 B ETERRY

(Dr) 229 (Cr.) 2w
e (&) e (59)

Capital [/ T )
Rinku/ RF 15,000
Tinku / 653 15,000
: Current Account / 5fFe 61 :
(a) What are Accounting Standards? What . Rinku / R 12,000
Procedu{'c is adopted for formulating Tinku / <3 6,000
Accounting Standards? Discuss the {and and Buildings (at cost) / 60,000
objectives of such standards. 3+5+6=14 i = 9 (T Io0S)
Machinery (at cost) / . 45,000
fsﬁ"‘“ﬁ‘“‘. ez & R 3 ez g (8 TS)
o FETS @@ TS e N W G Purchases (adjusted) / 5,00,000
AR TIPTE, SIS 4 | T (FEAies)
Sales Return |/ R& e 10,000
Or / ST Salaries / 73 60,000
_ Wages [ TgR 72,000
(b)) Rinku and Tinku share profits \and Rent and Taxes / 28,000
losses equally. From the following Trial '\‘:1@1 SO
March, 2016, prepare Trading, Profit & ash & [ &% . ’ 12.000
Loss A Accumulated Depreciation / )
ccount for the vyear ended s T
:lst March, 2016 and.a Balance Sheet Debtors /[ (M 3,44,000
s on that date : 4+5+5=14 Creditors / ISR 4,00,000
| Sales / & 8,00,000
R W% focg re-areom 7 o 3 o | Closin/ Stock 65,000
2016 ‘ ) g Stock / ’
31 IS aHs W (OSEA e o

TRA  fileE-faf e
Rafer s Ren-comr, airs- 12,42,000 12,42,000



(6)

Adjustment [ RIS

Accumulated depreciation  includes
Land and Buildings ¥ 5,000, Machinery
£ 6,000 and Furniture ¥ 1,000

e semee feete T 9% w93 97 5,000
521, Tzenfes IR 6,000 5 WF BRRA A3
1,000 5& =@t

A motorcar was purchased on 1lst April,
2012 under hire-purchase system. The
payments to be made ¥ 20,000 down
and the balance including interest
@ 5% p.a. as follows :

€W TR TY TH-W mfee 2012
1 oo fim R ofe | 58 Geaeqed SR
@ 3fER e e 20,000 B i AR ST
T W R 5% ed i wee Ty W€
“farmy 3z afem -

Z (5=)
On 31st March, 2013 60,000
2013 511 3] 3t
On 31st Mar¢h, 2014 ' 77,500
2014 57 31 353
On 31st:March, 2015 84,000

2015 57 31 3k

(b)

( 7.)

The buyer depreciated the motorcar
@ 15% p.a. under Diminishing Balance
Method.

et W MBA ER 15% RS FR-ZEEE
S ~mfes Ty o iz |

Ascertain the cash price of the motor-
car and prepare Motorcar Account and
Hire Vendor’s Account in the books of
hire purchaser.

T MERER 7 o e+ F -
(Fod J2C T4 MeR fEE WE STE-&FEd
fRcaem 2o zge 411

Or / E3[l

What is Hire-purchase System?
Distinguish between Hire-purchase Sale
and Ordinary Credit Sale. Mention three
rights of each of Hire Seller and Hire
Purchaser as laid down in the Hire-
purchase Act, 1972.

TTU-T S 7 SO el fGE TF
MqRd IR RER e 4P NEIEA T
4| TE-gw wE, 1972-¢ AR %@
wf#FR Temy 7901

4+5+5=14

3+5+3+3=14



(8)

5. (a) From the following particulars, prepare

D3 AfEFIT SR B o 4
Department-X Department-Y
Rerr-x Rers-y
(o) ¢ (o)
Stock 01.04.2015 30,000 5,000
#4 01.04.2015
Purchase from outside 2,05,000 20,000
Rt
Wages 10,000 1,000
R
Salaries 3,600 2,400
oy
Transfer from Department-X — 50,000
X-Rem o zmme
Stock 31.03.2016 35,000 12,000
A 31.03.2016 '
Sales to outsiders .
s 2,0 70,000
A = gt 23N
;he entire closing  stock  of
cpartment-y represents goods

™7 fa n o

Departmental Trading and Profit & Losg
in columnar form for the
two departments and thereafter
the Combined Income Account of
Dutta Brothers' for the year ended
31st March, 2016 :

were fig1 Reaem <1 v ambs 461 [erm aie
BIFA W34 2016 @ 31 TS ¥ @E
%A I Ry F-Rem, #rs-@T<on we

Account

transferred from Department-X at cost

4+6+4=14

(b)

(@)

(9)

plus 25%. Administrative and Selling
Expenses amount to © 14,000 which is
to be' allocated between the two
departments in the ratio of 6 ; 1,

y-fasiad Al s o X-fasim a4 on

qol4 FTE 25% Nl i a9 aq efim

geaan o faf T 14,000 Ber woi)

T TS 6 : 1 TeHTee fasiwn af4a @ |
Or / 547

(i) What do you mean by inter-branch
transactions? State the procedure

of recording such transactions. 3+5=8

SRR e Jfeica & 3a1 7 G
CReTTE s Tam g Ty
7 |

(i) Distinguish between ‘cash-in-
transit’ and ‘goods-in-transit’.
‘s Fm & W ‘coffa A9’ -3 ae

“MfFPE. TEe 31 |

Explain the following items in relation to
Royalty Accounts :

() Minimum rent

(i) Shortworkings

(i) Sub-lease

(iv) Strike and lockout

3+3+4+4=14



(b)

(10 ) -

e fRE A9 TE UF TS Ty 9

e 3 0
() e e
(i) FTZ-TATH
(iii) o -TE
(iv) T EF T

Year

Or / 3g<1

7
Jai Prakash took lease of a coal mine
from Ram Prakash at an annual dead . 2011
rent of ¥4,000 subject to a royalty 2012
payable @ 50 paise per ton of 2013
coal extracted, Shortworkings are 2014
recoupable over the first four years of 2015

the lease.

AfF et 4,000 T Y fofes baaf®
50 25T TS FHAPI INAFPR AT ol
TR TS 70 | T3-S KT Sl
o= 212 5 729 fowacs s g =R |

Jai Prakash sub-leased"a part of the
mines to Satya Prakash at an annual
dead rent of ¥ 2,000 subject to a royalty
payable @ 75 paise.per ton of coal
extraged. The .right to recoup short-
Wworkings was during the next two years

t;ouowing the shertworking. The output
or five years were as follows :

(117)

qfife et &1 2,000 5o fefag Ba ofe
Teofis A ¢S 7S5 MNIF  FIEAS
SRR AR 9T T FSHId LAY SIE
o o ek | TR oRIE 2 Te foees
27 BEemA T Y S a9 #qfa 1 A
AT TP CeTS TrEY 1 T e -

Jai Prakash Satya Prakash Total
Qutput
ST TEIAIPT ¥ Teomid
Tons (B7) Tons (59) Tons (T4)
4400 1600 6000
4640 2160 6800
5200 2800 | 8000
5600 3600 9200
7200 4800 12000

Prepare Royalty Payable Account,
Royalty Receivable Account and Short-
workings Account in the books of Jai
Prakash. 5+5+4=14

e 1S “ff{eT ¥ 25, o8 7R
Bo1e W 23-Bese 2ot 2w 39 |



(12 )

( Old Course )

Full Marks : 80
Pass Marks : 32

Time : 3 hours

1. (a) Write whether the following statements

are ‘True’ or ‘False’ :

fafEie fRfefms Sm° @& iy’ o :

fi

(i)

fizi)

(iv)

Accounting principles are
formulated by the Government,

f2o1or TSz 5391 orge 3 |

Hire-purchase transactions are
governed by the Hire-purchase
Act, 1972.

SU-TT (RO SIU-dE Wiw,
1972-3 541 “R_wifers =7 |

Cash sent by the branch not
received by the head office by the

end of the year is debited to arrear
cash account.

"R (2R 1 7 7 FrRfecw A
o RS I O T A RBrrere
@%W@[

Royalty paid on sales is credited to
Profit and Loss Account.

T RER eme  ofipry R
S~ fE31or cafEh 3 77 )

1x4=4

(b) Fill in the blanks :

(13

1N 412 739 T

i

(i)

(1)

(iv)

Valuation of inventories s
accounted for as per Accounting
Standard .

THE SRR TRA, fFoq-fems =
TS SeEin) $91 2 |

Profit on repossession of goods
sold on Hire-purchase System is
considered as a profit.

wfEezd 941 92 (& 97 Foe @@ TSR
sIe-Tw dmfes _ @ 3@ s
T

In Branch Accounting, each branch
has separate
ey fEorere Ay smeR R
A |

On dissolution of a partnership
firm, cash in hand is transferred
to Account.

3 SRl afede Ry e 3
WS TN HRIRE s e ¥4
el

1x4=4



2. Write short notes on (any foun :

(14 )

qmﬁ-ﬂ(ﬁmmﬁﬁ):

{a) Features of Accounting Principles

(b)

(c)

(d)

(e)

TV b2

the year ended

f- e TR RAEPRR

‘Termination of
Agreement

TU-TX TR e

Hire-purchase

Inter-branch transactions
TR (FRATR

Amalgamation of partnership firms

SR IR Ge T

Provisions of strike and lockout- in
Royalty Account

T TS 230w e e IR

Lh;s f;llowlng is the Trial Balance of
F1rm asamah and Sharma Partnership
ads on 31st March, 2016. Prepare
"2 and Profit & Loss Account for

31st March, 2016 and a

Bal
ance Sheet‘as.on that date :

3+5+3=11

4‘)(4:]6

(15%)

a5t g . A SERl afer 2016
R 31 Wte e I faea fA9fe wars fan
25| o Ofdue Gu-[Ey wE wrs-wi

f2mrer oo I TFE-G 9O 901 :

Trial Balance / fi7 Rgfe

Debit. [ (5 #(Gel)  Credit / @35
Bills (Receivable 4,000 Bank Loan
oo 2 » @539 99
Cashiin Hand 4,000 Sundry Creditors
QLR Ry *neawE
Bad Debts 3,000 Sales
SEEa 94 =&

Trade Expenses 12,000 Bills Payable
IR [ o =

Advertisement 10,000 Capital :
e A
Machinery 76,000 Baruah
e Rl
Sundry Debtors 70,000 Sharma
Ry AR Ll
Goodwill . 75,000

T

Leasehold Premises 1,60,000

Heors AR

Fuel 20,000

e

Wages 1,50,000

R

T (o)

80,000
50,000
4,10,600

20,000

1,40,000

1,40,000



( 16 )

Debit | ERb € () Credit / @
Purchases 1,50,000
s
Opening Stock 85,000
gl AR
Rent and Taxes 18,000
TE I ¥
Discount 3,600
Bl
8,40,600
Adjustments/ >¥CAE] :

(i) Closing Stock ¥ 60,000
H3fq R 60,000 Bl

T (G

8,40,600

(i) Machinery is to be depreciate

@ 10% p.a.

@t wwey IR 10% /S i IR

1St

(ii) Provision should be made for bad
debts @ 2% p.a. on sundry debtors

CATR S*[S IER 2% WO SefaRad

o9 <o T AT #mesT

(iv) Partners sharethe profit equally

WA SHERS &S [T I

(b)

(a)

(b)

( 174)

Or / =<1

Outline the need for accounting. Briefly
describe the principles of accounting to

be followed in preparation of Financial

Statements. 5+6=11

fpre SRS T 391 | pUr fRoepTIR AFe
sEre TRwETE R AfeHz v W
1

Mention four features of Hire-purchase
System. Distinguish between Hire-
purchase System and Instalment
Purchase System. 5+6=11
oE-Ey  dmfed GGl CAFEr ToEd w9
AILFPTZ (48T |
Or / J=[1

On 1st April, 2013, M/s Hazarika
Traders purchased a car on Instalment

Purchase System. The terms of the
contract were as follows :

2013 [ 1 «fee wfiey oot Zeid Gors

a1 B R wmfve @y RfEE | pEd

TETE, wee fral 499d wfe -

() The cash price of the car was
€ 1,20,000

M Aew 990 =fee 1,20,000 591



i

fm)

(i)

{v)

( 221

Amount payable on - signing (),
agreement was € 45,000

PGS T IS W foy Py
45,000 B4

The balance of the purchase
consideration was to be paid
in three annual instalments of
25000 each together with
interest at 4% p.a. on the out-
standing balance

feetsr =& w1 B 25,000 ¥ BRG
:;ﬁmf%ﬁwtt%wﬁm*ﬂﬁmuw

The car was depreciated  at

10% p.a. under Fixed Instalment
Method

R 10% 27 fi fofy mfom MBIGN
6WWWWW

Acco
unts  were closed on

3lst March, each year

ﬁmm ‘
Wwaﬁfﬂm 31 w6 wifixa il

(a)

(19 )

Prepare the following accounts in the
books of M/s Hazarika Traders up to
31st March, 2016 : 4+443=11

cltb ziafaer Giuita 4213 31 %, 2016 7S
w1 Brgfae foneprgs 24e @
(1) Car’s Account
e fEotet
(2) Vendor’s Account
facarera fEmet
(3) Interest Suspense Account

3o IR 25

Write the accounting treatment in

Branch Account as regard to following :
3+4+4=11

M R wee fon R oW ot
sffBeae orafor e fordt -
(i) Cash-in-transit
T IS L A
() Goods-in-transit
TIY ALS T 218
(iii) Depreciation of branch fixed assets

DIRIRE dk\Kilas LS AU



(20 )

Oor/ J%J

(b) A Head Office at Kolkata supplies goods
to its branch at Dibrugarh on cost. The
branch sells the goods for cash and
credit and remits the proceeds to the
Head Office promptly. The branch
expenses are being met by the Head
Office by cheque. The following are the
transactions relating to the branch for
the year ended on 31st March, 2016 :

RIS 3 IR fGgrve 9 WA M=l
7 T 3 I | MR T e qde 73
BRI 7o wn 3 @ [ A e
| IY FAAE MR IR HOPR 740
ARTMY FF 1 2016 51 31 W6 SR =B °F
IO *MYR (AN Tore fral 3

S ¢ (5=)
tock at branch on 01.04.2015
01.04.2015 f4gy 1414 Te5 g @
Debtors at branch on 01.04 ’
.04.201
01.04.2015 =f{cy 4R ommR ° K
Goods sent to branch duri
uring the year 2,25,000
MR 3 (o 39 o7 g
Totalﬂ sales at branch
maﬁ(;‘bcfglfd}mg cash sales ¥ 1,10.000) 3,70,000
: (aﬂwﬁﬁl,lo,ooo%ﬂm) o
Goods returned by branch
R T4 R fee, e
Goods returned
b .
e Y customers 10,000

(21)

? =)
Cash collected from debtors 2.10,000
G o A
Discount allowed tondebtors 10,000
s a9 R R
Bad debts written off 5,000
s e R
Cheque sent by Head Office towards
branch _expenses !
Wwwwmmﬂm T (5=)
Salaries / ™ 25,000
Rent [/ T8 14,500
Petty Expenses / TE %% 500 40,000
45,000

Stock at branch on 31.03.2016
31.03.2016 Y TR TZE A

Prepare Dibrugarh Branch Account and
goods sent to Branch Account in Head
Office books. Show Branch Debtors

Account as a part of your working notes.
5+3+3=11

aﬂmm@%wﬁmw*ﬂw
o} sq) 7w et orFS I | ) (wTad 2o
> GeR «b e o R wEe IR
el

(a) Define Royalty. Discuss its various

types. Also distinguish between royalty
and rent. 3+4+4=11

oo e frm | ww Rfen ez 3
T oW IR W OPd FES &
ATSTIZ TE I



(22 ]

( 23))
or / %1

(b) Meghna Coal Ltd. took a lease of coal 7. (a) State and /explain the decisions and

mine for ten years on a royalty of ¥ 3 per rules laid down in Garner vs. Murray
ton of coal raised. The minimum rent case. Are these rules applicable in
was fixed at & 13,000 and there was no India? 7+5=12

any provision of right to recoup short- W =TI VA @TT WS @ B
workings. The coal raised was as e eves TEY WE T T4 | 3 N
follows : SHTS 31"5@(? ) i

e 39 B 9B TR R T IR

Or / 933
ofs B Teoffre FweE 3 B oA Siwe : . .
77 | TFeR ISR AR 13,000 5 R (6" P and Q were in partnership shaning
o T 2T O Tz profits or losses in the ratio of 2:1
< o TFaR TR respectively. They dissolved the partner-
@ R SRR @ iR | e ship and their Balance Sheet on that
e e T el

date was as follows :
p=® Q OB WA ARSI HewE %A
Year Output (in tons) . : oF ATe Y e FAE 2:1 HATTS
T Beor (B ' s :
(&) 35 <fafm | ©SEE TR AfEFWI =

2012
3000 T wF o e 2fEPoR I T
2013 4000 ) ¥R SR
o 6000 Balance Sheet / ¥§5-
2015 200'0
Liabilities / R e Gm)  Assets / T 7 (5=)
1 ildi 000
: s Capital Accounts : Building 16,
1;?58 Journal Entries in the books of T et =@
ehna Coal Lide 11 P 10,000 Inventory 2,500
@@ ' Hfatier ¥ wraw ﬁfiﬁﬁ'{{ Bt Q 8,000 TR <00
Trade Creditors 2,000 Cash 1,
FRTEE NS CR bl

30.000 20,000

~ e}



(24)

The assets realized ¢¥20,000. The
creditors were paid in full. You are
required to pass Journal Entries and
prepare Ledger Accounts for closing the
books of the partnership firm. 6+6=12

T2 /1 20,000 531 e =7 | e
T e e w7 o wseR
AFee=oA Ry ez w9l A TR
0

LR &




